Geometry A
CPCTC Practice Homework

1. Given: /\WV;P_O,/\WJEN_O
Prove: /M=./0

M M

2. Given: ?SPW/,HJEW_U
Prove: TTSEW

3. Given: @EK_L, /ZG= /K, 1=K/

Prove: I-W = El
G

Name :
Date :

Statﬂwenti Reasons

1.MN = PO 1.

2.MP = NO 2.

3. 3. Reflexive Property
4. ANMP = APON 4.

5.242M =20 5.

Stat_emenﬁ Reasons

1L.TS I VW 1.

2. £STU = VWU 2.

3. 3. Given

4. 4. Vertical Angles Theorem
5. ATUS = AWUV 5.

6. 6.

Statements Reasons
1. 1. Given
2.£G=¢«K 2.
3. 3. Given
4. AHGI = ALK] 4,
5. 5. CPCTC

Period :




4. Given: gj;\/_T; ASTU and AVUT

are right triangles

Statements Reasons

Prove: ST =UV 1. 1. Given

2. 2. Given

4. ASTU = AVUT 4.

5
T I‘l\'\ U 3. 3. Reflexive Property
\dv

5. Given: Q_B bisects ZKQA , /K= /A
Prove: K_B = A_B

Q Statements Reasons
K 1. QBbisects ZKQA L
2. ZKQB=ZAQB 2.
A
3. ZK=/A 3.
B 4, 4. Reflexive Property
5 5
6. KB=AB 6.
6. Given: Cis midpoint of AE and BD
Prove: AB=DE Statements Reasons
A B
C




Answer Key:

1) 1. Given 2. Given 3. NP=NP  4.555 5. CPCTC
2) 1. Given 2. Alt. Interior Angles Theorem 3. TU=WU
5. ASA 6. TS=VW : CPCTC
3)1. GH=KL 2.Given 3.GI=K/  4.SAS 5. HI=LJ
4) 1. SU=VT 2. ASTU and AVUT are right triangles 3. TU=TU
5) 1. Given 2. Definition of angle bisector 3. Given 4. Q_B = Q_B
6. CPCTC

6) 1. Cis the midpoint of E; Given 2. A_C = E; Definition of midpoint
3. Cis the midpoint of BD ; Given 4. B_C = D_C; Definition of midpoint
6. AACB=AECD ; SAS 7. AB=DE ; CPCTC

4. LTUS = ZWUV

4.HL 5.CPCTC

5. AKQB=AAQB ; AAS

5. LZACB= ZECD ; VAT



